SAM X1t
B SHETAHIY L 2T KM DRELNSNL/AT)
s ofdEd MAE HA (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
K==t 59,266,4% 54,667,063 4,599,431
= 20,672,325
[ 1,960,000
= 36,634,169
SHETHOHOIY & =Xt JIXIM (S ER XL /=XH) 59,233,985 54,635,200 4,598,785
= 20,672,325
= 1,960,000
L= 36,601,660
ot MAE JHA 29,233,660 33,987,100 A4,753,440
ot Ed i & =& 1,017,580 766,900 250,680
201 er23 | 13,500 13,500 0
01 At2tltl 13,500 13,500 0
A2 2e|2s 2 13,500
202 04dl 4,080 3,400 680
01 2L AL 4,080 3,400 680
OGSt THH MG K= B 4,080
308 AHXIHMSO0IA 1,000,000 750,000 250,000
02 =123 1,000,000 750,000 250,000
OotdAEZ dul=s 1,000,000
NS EH(MEH(EH)) (HEAD) 806,000 0 806,000
401 AlZHIZL SO 806,000 806,000
01 Al&H| 800,000 800,000
ONIEHM(EH) NYStHEEHI(HE) 800,000
03 Al =2 0HHI 6,000 0 6,000
OMEH(EH) NLotEBHI(HE) 6,000
NSt ZH(ME (Sol) HE1R72)(HEALY) 100,000 0 100,000
401 Al HIZ R 0HbI 100,000 100,000
01 AlZ28| 100,000 100,000
OXH(Sall) MK XLotdZHI(H &) 100,000
NS FEHI(HE ORI 7)) (HEAY) 100,000 706,000 606,000
401 Al HIZL 201 100,000 706,000 606,000
01 Al&HI 100,000 700,000 A\600,000
OO0&E HEXI7 XLStEFHI(&E) 100,000
XSt HH(SE LX) (HEAY) 2,106,000 590,000 1,516,000
401 AIZHIX S0 2,106,000 520,000 1,516,000
01 AlZH| 1,700,000 584,000 1,116,000
O=& DHX7 XLotEFH|(HE) 1,700,000
02 Zeltl 400,000 0 400,000
S D8XF XL FHI(HE) 400,000
03 Al 20HHI 6,000 6.000 0
S& DAXTF XLt FHI(HE) 6,000
NYStAZH(DZ A &elX7)(HEAY) 2,106,000 227,000 1,879,000
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S Rl
A SHEMoHoY & =X DN EL TSN /=RH)
el oteEE MAR e (SH9 M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 2,106,000 227,000 1,879,000
01 Al&H| 1,700,000 221,000 1,479,000
OnZH X7 XLoHEAHI(HE) 1,700,000
02 Zeltl 400,000 0 400,000
OnZH aelX+ XLt FHI(HE) 400,000
03 AlESTHYI 6,000 6,000 0
OnZE AelXT XL FHI(HE) 6,000
KLt ZHH| (GHETHAH Ol L) (R BHALY) 22,998,080 16,309,200 7,688,880
403 THXISHMSAH=01 ™ 22,998,080 16,309,200 7,688,880
01 AXISHHA=2E XL 22,998,080 16,309,200 7,688,880
SEH Yo FHI(HE) 3,500,000
O¢=d XIYstEEHI(HE) 2,217,000
OZsTH XYt FHI(ME) 924,800
O XLaEHHI(HE) 2,000,000
OM&E E=2X17 XYstEFEI(&HE) 3,407,000
OAEH AEX7 XYstdZy(He) 2,167,000
OASH EXIXF XLSHEZH|(HE) 1,209,000
Oltsd XYt FHI(HE) 1,700,000
OFEd XYt (HE) 2,438,480
O¢lEH - A XLt AHI(HE) 34,800
Osgd XYstdZHI(ME) 1,000,000
OQI=d XLaEFHI(HE) 1,800,000
ogeld gdXl+ XLt FHI(HE) 600,000
=X DA & 2el2st 30,000,325 20,648,100 9,352,225
= 20,672,325
s 1,960,000
= 7,368,000
ot el A3t 3,918,000 4,394,100 A476,100
201 et 3| 2,000 0 2,000
01 At2t2l] 2,000 0 2,000
OctaSA X229 29 2,000
202 04l 21,000 16,700 4,300
01 2LHoIH 21,000 16,700 4,300
OHASA 22| M2 XA 18,000
OB E S I ZA 3,000
403 AXIEHMSA=Z0I1d 3,895,000 3,627,000 268,000
01 MHXIHHA 222 3,895,000 3,627,000 268,000
OX&otd RAEaAtS 1,505,000
OXILotE ot=&HIAHY 2,100,000
Os=d Ndgotd &l 75,000
OAl=d Xgotd &bl 75,000
O=2X& Xlgsotd HH 50,000
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S Rl
M SHETHGHOIY Y X2 XM (SELXLINL /X))
=i HE N v WD) PADS VRS- £S5 122 o)) (Gt M)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
OZTd0Id Aot EH 20,000
OdMd Aot &bl 20,000
O2ud Aotd Hd| 50,000
2| ES(=20) 6,787,438 4,761,000 2,026,438
= 6,787,438
403 AXIEHMSAH=0l1d 6,787,438 4,761,000 2,026,438
= 6,787,438
01 AXISHHA=2EE 6,787,438 4,761,000 2,026,438
O=Jlotd |2+ 6,787,438
= 6,787,438
A0E ASZ2AAE(ZD) 1,960,000 1,855,000 105,000
= 1,960,000
403 MR EHSAHE01H 1,960,000 1,855,000 105,000
[ 1,960,000
01 XM= 2L 1,960,000 1,855,000 105,000
OADIE HE2CIAAE 1,960,000
= 1,960,000
AFHSAL(Z1) 11,662,000 5,838,000 5,824,000
= 11,662,000
403 AXIEHMSA=Z01d 11,662,000 5,838,000 5,824,000
= 11,662,000
01 AXISHHA =2 £ 11,662,000 5,838,000 5,824,000
O3=d EXEE Y 2&E 11,662,000
= 11,662,000
Kgotd sXl2el At 3,450,000 3,800,000 A.350,000
201 er23| 300,000 300,000 0
01 At2tltl 300,000 300,000 0
OHERX DAl & 0H2F 22| 300,000
401 AlEHIZ S 0HbI 3,150,000 3,500,000 /350,000
01 AlZH| 3,150,000 3,500,000 /350,000
OJIMEHYUEX 2&f 1,800,000
OXlgsta JIZ2AH= 1,350,000
BiZ Wl =2HI(=1) 2,222,887 0 2,222,887
= 2,222,887
403 MR EHSAHE01H 2,222,887 0 2,222,887
= 2,222,887
01 XM= 2L 2,222,887 0 2,222,887
©8.9.~8.11. EHZ Tl =S7HI(LoHE 2,222,887
= 2,222,887
HH2SBHI(XI==24) (DIEL/DIE}) 32,509 31,863 646
=3t 32,509 31,863 646
2A2g J1=2d8l 32,509 31,863 646
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. HZ2ZHI(X==) (OIEH/ IR
&l J12Z (CH9: &S1)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
201 Zet=d] 22,449 22,449
01 At2teltl 22,449 22,449
ORAMEY AtR2clH] 22,449
202 04t 6,460 5,814 646
01 =LHOHI 6,460 5,814 646
OFMEZ =0 6,460
203 =4l 3,600 3,600
M FAZHHIFII 3,600 3,600
3,600
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